## CONJUGATE ACTION IN A LEFT ARTINIAN RING

# JUNCHEOL HAN

If R is a left Artinian ring with identity, G is the group of units of R and X is the set of nonzero, nonunits of R, then G acts naturally on X by conjugation. It is shown that if the conjugate action on X by G is trivial, that is, gx = xg for all  $g \in G$  and all  $x \in X$ , then R is a commutative ring. It is also shown that if the conjugate action on X by G is transitive, then R is a local ring and  $J^2 = (0)$  where J is the Jacobson radical of R. In addition, if G is a simple group, then R is isomorphic to  $Z_2[x]/(x^2+1)$  or  $Z_4$ .

## 1. Introduction and basic definitions

Let R be a ring with identity, let G denote the group of units of R and let X denote the set of nonzero, nonunits of R. We call the action,  $\phi: G \times X \to X$  defined by  $\phi(g,x) = gxg^{-1}$  for all  $g \in G$  and all  $x \in X$ , the conjugate action or simply conjugation. We define for each  $x \in X$ , the orbit  $0(x) = \{\phi(g,x) : g \in G\}$ . We say that the action  $\phi$  is transitive on X if there is an  $x \in X$  with 0(x) = X. Also we say that the action  $\phi$  is trivial if for each  $x \in X$ ,  $0(x) = \{x\}$ .

An element  $a \in R$  is said to be left quasi-regular if there exists  $r \in R$  such that r + a + ra = 0. In this case the element r is called a left quasi-inverse of a. A (right, left or two-sided) ideal I of R is said to be left quasi-legular if every element of I is left quasi-regular. Similarly,  $a \in R$  is said to be right quasi-regular if there exists  $r \in R$  such that a + r + ar = 0. Right quasi-inverse and right quasi-regular ideals are defined analogously. It is clear that if R has an identity 1, then a is left [resp. right] quasi-regular if and only if 1 + a is left [resp. right] invertible. The Jacobson radical of R is defined by the left quasi-regular left ideal which contains every left quasi-regular ideal of R and is denoted by J(R) (or simply J).

Received June 25, 1993.

#### Juncheol Han

A ring R is local ring provided that  $X \cup \{0\}$  is an ideal of R. In particular, if R is a local ring, then  $X \cup \{0\}$  is the unique maximal (right, left or two-sided) ideal of R and  $J = X \cup \{0\}$  (See [1], p 170, Proposition 15.15)

A ring R is said to be semisimple if its Jacobson radical J is zero. We note that R/J is semisimple ring.

In [4], Wedderburn-Artin have shown that if R is a semisimple left Artinian ring, then R is isomorphic to a direct sum of a finite number of simple rings. Hence we obtain the following:

THEOREM 1.1. If R is a left Artinian ring with identity, then  $R/J \cong \bigoplus_{i=1}^{n} M_i$   $(D_i)$  where  $M_i(D_i)$  is the set of all the  $n_i \times n_i$  matrices over a division ring  $D_i$  for each  $i = 1, 2, \dots, n$  and for some positive integer n.

*Proof.* See [4, Theorem 2.14, p.431 and Theorem 3.3, p.435].

In Section 2, we show that if R is a left Artinian ring with identity such that the conjugate action of G on X is trivial, then R/J is isomorphic to a finite direct sum of fields and R is commutative.

In Section 3, we show that if R is a left Artinian ring with identity such that the conjugate action of G on X is transitive, then R is a local ring and  $J^2 = (0)$ , in addition, if G is simple, then R is commutative and R is isomorphic to  $Z_4$  or  $Z_2[x]/(x^2+1)$ .

# 2. Trivial conjugate action on X

We begin with the following lemma:

LEMMA 2.1. Let R be a ring, and let  $G^*$  be the group of units of R/J. Then  $g \in G$  if and only if  $g + J \in G^*$ .

*Proof.*  $(\Rightarrow)$  Clear.

( $\Leftarrow$ ) Suppose that  $g^* = g + J \in G^*$ . Then there exists  $h^* = h + J \in G^*$  such that  $g^*h^* = h^*g^* = 1^*$  where  $1^*$  is the identity of  $G^*$ . So 1 - gh and  $1 - hg \in J$ . By the definition of  $J, 1 + J \subseteq G$  and so gh and  $hg \in G$ . It is clear that  $g \in G$ .

LEMMA 2.2. Let R be a ring. Then  $a \in R$  is left quasi-regular if and only if  $a + J \in R/J$  is left quasi-regular.

*Proof.* It follows easily from Lemma 2.1.

LEMMA 2.3. Let R be a left Artinian ring with identity 1. If the conjugate action of G on X is trivial, that is, gx = xg for all  $g \in G$  and all  $x \in X$ , then  $R/J \cong \bigoplus_{i=1}^n F_i$  where  $F_i$  is a field for each  $i = 1, 2, \dots, n$  and for some positive integer n.

Proof. By Theorem 1.1,  $R/J \cong \bigoplus_{i=1}^n M_i(D_i)$  where  $M_i(D_i)$  is the set of all the  $n_i \times n_i$  matrices over a division ring  $D_i$  for each  $i=1,2,\cdots,n$  and for some positive integer n. Since gx=vg for all  $g\in G$  and all  $x\in X$ ,  $g^*x^*=x^*g^*$  for all  $g^*\in G^*$  and all  $x^*\in X^*$  (= the set of nonzero, nonunits of R/J) — (#). It is clear that if  $n_i\geq 2$  for some i, then  $M_i(D_i)$  does not satisfy (#). Hence  $n_i$  must to be 1 for each i. Next, we will show that  $D_i$  is field for each i. If  $D_i$  is not field for some i, then there exist a and  $b\in D_i$  such that  $ab\neq ba$ . Let  $a^*=(a_1,\cdots,a_i,\cdots,a_n)$  and  $b^*=(b_1,\cdots,b_i,\cdots,b_n)$  with  $a_i=a\neq 0$ ,  $a_j=0$  for  $j\neq i$  and  $b_i=b\neq 0$  and  $b_j=1$ . Then  $a^*\in X^*$  and  $b^*\in G^*$  and  $a^*b^*=(0,\cdots,ab,\cdots,0)\neq (0,\cdots,ba,\cdots,0)=b^*a^*$ , which contradicts to (#). Hence we have the result.

LEMMA 2.4. Let R be a ring with identity. If the conjugate action on X by G is trivial and a and b are quasi-regular elements of R, then ab = ba. In particular, J is a commutative ideal of R.

*Proof.* Since  $1+J\subseteq G$  and a and  $b\in J\subseteq X$ , (1+a)b=b(1+a) by assumption. Hence ab=ba. Since each element of J is quasi-regular, J is a commutative ideal of R.

Let R be a left Artinian ring with identity such that the conjugate action of G on X is trivial. By Lemma 2.2,  $R/J \cong \bigoplus_{i=1}^n F_i$  where  $F_i$  is field for each  $i=1,2,\cdots,n$  and for some positive integer n. For simplicity of notation, we can assume that  $R/J=\bigoplus_{i=1}^n F_i$ . Let  $\phi:R\to R/J$  denote the canonical ephimorphism and for each i, let  $R_i=\phi^{-1}(\bigoplus_{i=1}^n H_i)$  where  $H_j=\{0_j\}$  where 0 is the additive identity of  $F_j$  for  $j\neq i$  and  $H_i=F_i$ . Let  $\phi_i=\phi|_{R_i}$ . Then  $\ker \phi_i=\{a\in R_i:\Pi_i(\phi_i(a))=0_i\}$  where  $\Pi_i$  is the projection of  $\bigoplus_{i=1}^n F_i$  to  $F_i$ . Note that

Ker  $\phi_i = J$  for each  $i = 1, 2, \dots, n$  and each  $R_i$  is an ideal of R. Let  $1_i^*$  denote the identity of  $\phi_i = \bigoplus_{i=1}^n H_j$ , that is,  $1_i^* = \bigoplus_{i=1}^n a_j$  where  $a_j = 0_j$  for  $j \neq i$  and  $a_i = 1_i$  (= the identity of  $F_i$ ). Observe that  $\phi_i^{-1}(\{1_i^*\})$  is contained in the center of  $R_i$  if and only if  $\phi_i^{-1}(\{-1_i^*\})$  is contained in the center of  $R_i$ .

LEMMA 2.5. Let  $\phi: R \to R'$  be a ring epimorphism. If A and B are subsets of R', then  $\phi^{-1}(A+B) = \phi^{-1}(A) + \phi^{-1}(B)$ .

*Proof.* If  $x \in \phi^{-1}(A + B)$ , then  $\phi(x) = a + b \in A + B$ . Since  $\phi$  is onto, there exist  $a^* \in A$  and  $b^* \in B$  such that  $\phi(a^*) = a$  and  $\phi(b^*) = b$ . So  $\phi(x) = a + b = \phi(a^*) + \phi(b^*) = \phi(a^* + b^*) \in \phi(\phi^{-1}(A) + \phi^{-1}(B))$ . Hence  $x \in \phi^{-1}(A) + \phi^{-1}(B)$ .

If  $x \in \phi^{-1}(A) + \phi^{-1}(B)$ , then  $x = a^* + b^*$  where  $a^* \in \phi^{-1}(A)$  and  $b^* \in \phi^{-1}(B)$ . So  $\phi(x) = (a^* + b^*) = \phi(a^*) + \phi(b^*) \in A + B$ . Hence  $x \in \phi^{-1}(A + B)$ .

LEMMA 2.6. If R is a left Artinian ring with identity, then  $R = R_1 + R_2 + \cdots + R_n$  where  $R_i = \phi^{-1}(\bigoplus_{i=1}^n H_i)$  with  $H_j = \{0j\}$  (0<sub>j</sub> is additive identity of  $F_j$ ) for  $j \neq i$  and  $H_i = F_i$ .

*Proof.* Let  $F_i^* = \bigoplus_{i=1}^n H_i$  for each i. Then  $\bigoplus_{i=1}^n F_i = F_1^* + F_2^* + \cdots + F_n^*$ . Hence  $R = \phi^{-1}\phi(R) = \phi^{-1}(R/J) = \phi^{-1}(\bigoplus_{i=1}^n F_i) = \phi^{-1}(F_1^* + F_2^* + \cdots + F_n^*) = \phi^{-1}(F_1^*) + \phi^{-1}(F_2^*) + \cdots + \phi^{-1}(F_n^*) = R_1 + R_2 + \cdots + R_n$  by Lemma 2.6.

LEMMA 2.7. Let R be a ring with identity such that the conjugate action on by G, X is trivial and  $R/J = \bigoplus_{i=1}^n F_i$  where each  $F_i$  is a field. If  $\phi_i^{-1}(\{1_i^*\}) \subseteq Z(R_i)$  (= center of  $R_i$ ), then  $R_i$  is commutative ideal of R for each i.

**Proof.** Since  $R_i$  is an ideal of R, if  $a \in R_i$ , then a is quasi-regular in  $R_i$  if and only if a is quasi-regular in R. Hence by Lemma 2.2, if  $a \in R_i$ , then a is quasi-regular in  $R_i$  if and only if  $\phi(a)$  is quasi-regular in R/J, that is,  $\phi_i(a)$  is quasi-regular in  $F_i^* = \bigoplus_{i=1}^n H_j$  where  $H_j = \{0_j\}$  for  $j \neq i$  and  $H_i = F_i$ . Hence for  $a \in R_i$ , a is quasi-regular if i = 1 and only if  $\Pi_i(\phi_i(a)) + 1_i \neq 0_i$ .

Now let  $a, b \in R_i$ . If a and b are quasi-regular, then ab = ba by Lemma 2.4. If a is not quasi-regular, then  $\Pi_i(\phi_i(a)) + 1_i = 0_i$ , that

is,  $a \in \phi_i^{-1}(\{-1_i^*\})$ . Thus a is in the center of  $R_i$  and so ab = ba. Simallarly, if b is not quasi-regular, then ab = ba.

LEMMA 2.8. Let R be a ring with identity such that the conjugate action on X by G is trivial and  $R/J = \bigoplus_{i=1}^n F_i$  where each  $F_i$  is a field. If  $\phi_i^{-1}(\{1_i^*\}) \subseteq Z(R_i)$  (= center of  $R_i$ ) for each  $i = 1, 2, \dots, n$ , then R is a commutative ring.

Proof. Let  $a \in R_i$  and  $b \in R_j$  for  $i \neq j$   $(1 \leq i, j \leq n)$ . By Lemma 2.6, it suffices to show that ab = ba. By Lemma 2.4, we may assume that both a and b are not quasi-regular. Without loss of generality, we may assume that a is not quasi-regular. Then  $\Pi_i(\phi_i(a)) = -1_i$ . Since ab = ba if and only if (-a)b = b(-a), we may assume that  $\Pi_i(\phi_i(a)) = 1_i$ . Now  $ab, ba \in R_i \cap R_j$  since  $R_i$  and  $R_j$  are ideals of R. But for  $i \neq j$ ,  $R_i \cap R_j = J$ . So  $ab, ba \in J$ . Since  $J \subseteq Z(R_i)$  for each i, ab and ba are in  $Z(R_i)$  for each i. Hence a(ab) = (ab)a = a(ba) = (ba)a, that is,  $a^2b = ba^2$ . Since  $\Pi_i(\phi_i(a^2-a)) = 0_i$ ,  $a^2-a \in J$ . So  $(a^2-a)b = b(a^2-a)$ . Hence -ab = -ba, that is, ab = ba.

THEOREM 2.9. Let R be a left Artinian ring with identity. If the conjugation on X by G is trivial, then R is a commutative ring.

Proof. By Lemma 2.3, we can assume that  $R/J = \bigoplus_{i=1}^n F_i$  where  $F_i$  is field for  $i=1,2,\cdots,n$ . By Lemma 2.8, it is enough to show that  $\phi_i^{-1}(\{1_i^*\}) \subseteq Z(R_i)$  for each  $i=1,2,\cdots,n$ . Note that  $\phi_i^{-1}(\{1_i^*\}) \subseteq Z(R_i)$  if and only if  $\phi_i^{-1}(\{-1_i^*\}) \subseteq Z(R_i)$ . Let  $a \in \phi_i^{-1}(\{-1_i^*\})$  and  $b \in R_i$ . If  $a \in \phi_i^{-1}(\{-1_i^*\})$ , then  $\phi_i(a) = -1_i^*$  and  $\Pi_i(\phi_i(a) = -1_i$ . As in the proof of Lemma 2.7, if  $a \in R_i$ , a is quasi-regular if and only if  $\Pi_i(\phi_i(a)) + 1_i \neq 0_i$ . So a is not quasi-regular and so  $1 + a \in X \cup \{0\}$ . If b is quasi-regular, then  $1 + b \in G$ . So (1 + a)(1 + b) = (1 + b)(1 + a) by assumption, and consequently ab = ba. If b is not quasi-regular, then  $\Pi_i(\phi_i(a)) = -1_i$ . Let  $e_i \in R_i$  be such that  $\Pi_i(e_i) = -1_i^*$ . Then  $\Pi_i(\phi_i(a - e_i)) = 0_i$ , and so  $a - e_i \in \text{Ker } \phi_i = J$ .

Similarly,  $b-e_i \in J$ . Then  $a=e_i+x$ ,  $b=e_i+y$  for some x and  $y \in J$ . Note that  $1+x, 1+y \in G$  and  $1+e_i \in X \cup \{0\}$  since  $e_i$  is not quasi-rgular. So  $(1+x)(1+e_i)=((1+e_i)(1+x)$  and conquently  $xe_i=e_ix$ . By the similar argument we have that  $ye_i=e_iy$ . So  $ab=(e_i+x)(e_i+y)=e_i^2+xe_i+e_iy+xy=e_i^2+e_ix+ye_i+yx=(e_i+y)(e_i+x)=ba$ . Hence R is commutative.

Example 2.10. Let Q be the field of rational numbers. Let

$$R = \{(a_{ij}) \in M_2(Q) : a_{11} = a_{22}, a_{21} = 0\}.$$

Note that  $G = \{(a_{ij}) \in R : a_{11} = a_{22} \neq 0\}$ ,  $X = \{(a_{ij}) \in R : a_{11} = a_{22} = 0, a_{12} \neq 0\}$  and the conjugation of G on X is trivial, that is, gx = xg for all  $g \in G$  and all  $x \in X$ , and so R is commutative.

# 3. Transitive conjugate action in a left Artinian ring

Recall that the action  $\phi$  is said to be transitive on X if there is an  $x \in X$  with  $0(x) = {\phi(g, x) : g \in G} = X$ .

LEMMA 3.1. Let R be a ring with identity. If the conjugate action on X by G is transitive, that is, there is an  $x \in X$  with  $0(x) = \{gxg^{-1} : g \in G\} = X$ , then x is not zero-divisor if and only if y is not zero-divisor for any  $y \in X$ .

**Proof.** If x is not zero-divisor and ay = ya = 0 for some  $a \in R$ , then  $a(gxg^{-1}) = (gxg^{-1})a = 0$  for some  $g \in G$ , and so  $(ag)x = x(g^{-1}a) = 0$ . As x is not zero-divisor  $ag = g^{-1}a = 0$ , and so a = 0. The similar argument shows that the converse also holds.

LEMMA 3.2. Let R be the ring of  $n \times n$  matrices over a division ring D for any positive integer n. Then every nonzero, nonunit element of R is zero-divisor.

*Proof.* Let A be a nonzero, nonunit element of R. If A has r-th row (resp. s-th column) as zero-row, then we can choose  $X = (x_{ij}) \in R$  (resp.  $Y = (y_{ij}) \in R$ ) satisfying  $x_{rr} \neq 0$  and  $x_{ij} = 0$  for i or  $j \neq r$  so that XA = 0 (resp. AY = 0). Hence A is zero-divisor.

Suppose that A has no zero rows (resp. no zero columns). By using the elementary theory in linear algebra, we can obtain an upper-triangular (resp. a low-triangular) martix B (resp. C) from A by means of finite number of elementary row (resp. column) operations and then  $S_1A = B$  (resp.  $T_1A = C$ ) for some nonsingular matrices  $S_1$  and

 $T_1 \in R$ . Let  $b_{ii}$  (resp.  $c_{ii}$ ) be the diagonal entries of (resp. C). If  $b_{ii}$  (resp.  $c_{ii}$ )  $\neq 0$  for all i, then by the above argument we can also obtain a diagonal martix D (resp. D') from B (resp. C) by means of finite number of elementary row (resp. column) operations and then  $S_2B=D$  (resp.  $T_2C=D'$ ) for some nonsingular matices  $S_2$  and  $T_2 \in R$ . Thus  $S_2S_1A=D$  (resp.  $T_2T_1A=D'$ ) and then A is non-singular, a contradiction. Hence  $b_{ii}=0$  (resp.  $c_{ii}=0$ ) for some i. Let i (resp. i) be the largest integer so that i (resp. i) of i (resp. i). Then i (resp. i) has i-th row (resp. i)-th column) as zero. So i0 (resp. i1) i2 (resp. i3) for some nonzero singular matrices i4) i5. If i6 i7 i7 i8 of i9 of i1 of i2 of i1 of i1 of i2 of i1 of i2 of i2 of i3 of i3 of i4 of i3 of i4 of i5 of i5 of i6 of i6 of i1 of i2 of i3 of i4 of i5 of i5 of i6 of i6 of i6 of i6 of i7 of i8 of i1 of i1 of i1 of i2 of i3 of i3 of i4 of i5 of i6 of i6 of i6 of i1 of i1 of i2 of i3 of i3 of i4 of i3 of i4 of i5 of i6 of i6 of i6 of i6 of i7 of i8 of i9 of i1 of i1 of i1 of i1 of i1 of i2 of i3 of i3 of i4 of i4 of i5 of i6 of i6 of i7 of i8 of i9 of i1 of i1 of i1 of i1 of i1 of i2 of i2 of i3 of i3 of i4 of i3 of i4 of i4 of i5 of i5 of i6 of i1 of i2 of i3 of i4 of i5 of i5 of i6 of i1 of i2 of i2 of i3 of i3 of i4 of i4 of i5 of i5 of i5 of i5 of

COROLLARY 3.3. Let R be a semisimple left Artinian ring. Then every nonzero, nonunit of R is zero-divisor.

*Proof.* It follows from Theorem 1.1 and Lemma 3.2.

THEOREM 3.4. Let R be a left Artinian ring with identity. If the conjugate action on X by G is transitive, then every  $x \in X$  is zero-divisor.

*Proof.* By assumption, there is an  $x \in X$  with  $0(x) = \{ gxg^{-1} : g \in G \} = X$ . By Lemma 3.1, it is enough to show that x is zero-divisor. Assume that x is not zero-divisor. If  $x \in J$ , then  $x^n = 0$  for some positive integer n as J is nilpotent ideal of R. Hence if x is not a zero-divisor, then x = 0, a contradiction. Suppose that  $x \in R \setminus J$ . Let  $x^* = x + J \in R/J$ . By Lemma 2.1,  $x^*$  is not unit of R/J. Hence by Corollary 3.3,  $x^*$  is zero-divisor and so  $x^*/^* = z^*x^* = 0^* = J$  for some nonzero  $y^*, z^* \neq J$  and then  $xy, zx \in J$ . Thus  $(xy)^s = 0$  (resp.  $(zx)^t = 0$ ) for some positive integers s, t. By the above argument, xy = zx = 0. If x is not zero-divisor, then y, z = 0, a contradiction. Hence x is a zero-divisor.

THEOREM 3.5. Let R be a left Artinian ring with identity. If the conjugate action on X by G is transitive, then R is a local ring and  $J^2 = (0)$ .

*Proof.* By assumption, there is an  $x \in X$  with  $0(x) = \{gxg^{-1} : g \in G\} = X$ . First, we will show that  $XX \subseteq X \cup \{0\}$ . Assume

that there exist  $y, z \in X$  such that  $yz \notin X \cup \{0\}$  and then  $yz \in G$ . Since y is zero-divisor by Theorem 3.4, ay = 0 for some  $a \in X$ , and so (ay)z = a(yz) = 0. Since  $yz \in G$ , a = 0, a contradiction. Clearly,  $GX, XG \subseteq X \cup \{0\}$ , and hence  $RX, XR \subseteq X \cup \{0\}$ . Next, we will show that  $X \cup \{0\}$  is closed under addition. Since x is zero-divisor, by the above argument there exists  $s \in X$  such that s = 0. Since the conjugate action of s = x of  $s = x(sxs^{-1})$  and hence  $s = x(sxs^{-1})$  and hence  $s = x(sxs^{-1})$  and hence  $s = x(sxs^{-1})$ . Then  $s = x(sxs^{-1})$  and hence  $s = x(sxs^{-1})$  and

Finally, we will show that  $J^2 = (0)$ . Let a and b be arbitrary elements of J. Then there exist g and h of G such that  $a = gx_0g^{-1}$  and  $b = hx_0h^{-1}$ . If  $ab \neq 0$ , then  $ab = (gx_0g^{-1})(hx_0h^{-1}) \neq 0$ , and then  $x_0g^{-1}hx_0 \neq 0$ . So  $(g^{-1}hx_0)(g^{-1}hx_0) = (g^{-1}hx_0)^2 \neq 0$  a contradiction. Thus  $J^2 = (0)$ .

EXAMPLE 3.6. Let  $F = Z_2[x]/\langle x^2 + x + 1 \rangle$  be a field of order 4 and let  $R = \{(a_{ij}) \in M_2(F) : a_{11} = a, a_{22} = a^2, a_{21} = 0\}$ .

Note that R is a ring under the addition mod 2 and multiplication mod 2 of matrices, R is not commutative,  $G = \{(a_{ij}) \in R : a_{11}, a_{22} \neq 0\}$ ,  $X = \{(a_{ij}) \in R : a_{11} = a_{22} = 0, a_{12} \neq 0\}$  and the conjugation on X by G is transitive. Moreover, R is a local ring and  $J^2 = (0)$ .

COROLLARY 3.7. Let R be a left Artinian ring with identity such that the conjugate action of G on X is transitive. If G is simple group, then R is commutative ring and R is isomorphic to  $Z_2[x]/(x^2+1)$  or  $Z_4$ .

**Proof.** If the conjugate action of G on X is transitive, then by Theorem 3.5,  $J^2 = (0)$ . Let  $g \in 1 + J$  and  $x \in J$  be arbitrary. If  $J^2 = (0)$ , then gx = xg. Note that 1 + J is a proper normal subgroup of G. Hence if G is simple, then 1 + J = G, and so the conjugate action of G on X is trivial. Thus by Lemma 2.9, R is a commutative ring. If R is commutative, then  $J = \{0, x\}$ .

### Conjugate action in a left Artinian ring

We note that if  $J^2 = (0)$ , then a function  $\phi: R/J \times J \to J$  defined by  $\phi(a+J, j) = aj$  for all  $a+J \in R/J$ ,  $j \in J$  is well-defined and J is 1-dimensional left vector space over a division ring R/J by Lemma 2.1. Hence |R/J| = |J| = 2 and so  $|R| = |R/J| \cdot |J| = 4$ . By [2] (Theorem 2.5 and its Corollary), R is isomorphic to  $Z_2[x]/(x^2+1)$  or  $Z_4$ .

#### References

- Anderson, F. W and Fuller, K. R., Rings and Categories of Modules, Springer-Verlag, New York Inc., 1974.
- 2. Cohen, J and Koh, K., The group of units in a compact ring, Journal of Pure and Applied Algebra 54 (1988), 167-179.
- 3. Eldridge, K. E and Fischer, F., Orders for finite noncommutative rings with unity, Duke Math. J. 34 (1967), 243-248.
- 4. Hungerford, T. W., Algebra, New-York: Holt, Rinehart and Winston Inc., 1976.
- Raghavendrun, R., Finite associative rings, Composition Math. 21 (1969), 195-229.

DEPARTMENT OF MATHEMATICS, KOSIN UNIVERSITY. PUSAN 606-080, KOREA